The Belgrave Surround

{

> {[o0mOmENmEmImm <

]

Surround Shelf

2 X C Brackets 2 X M8 Bolts
Please note, a flat head screwdriver is required to assemble this surround. Surround
I Mé screw Mé screw Mé screw

'%ﬁ; ﬁ
é//:ﬁ = = Fﬁ%

VAN ® AN

Lay the shelf on a flat surface with the top of the shelf facing down.To avoid damaging the finish, lay a soft cloth down first.

Remove the 3 X M6 screws from the bottom of the shelf with a flat head screwdriver, do not discard the screws. Lift the
bottom of the shelf away from the top of the shelf.

fé—\ =) =) a%
} }
l C brackets attached l
to an M8 bolt.
é“ = Q 2 @ = ‘§

Pass the 2 X M8 bolts through the holes on the bottom of the shelf and then loosely attach the 2 X C brackets.

sales@carron.uk.net www.carron.uk.net 01400 263 313




The Belgrave Surround

ER

e

J{( ’\\ i

Attach the bottom of the shelf to the surround by placing the 2 X C brackets onto the fixing lugs. The 2 X M8 bolts should then
be tightened.

4 Iﬁ ”ﬁ\

3 x M6 screws -
on the front underside
of the shelf.

Place the to top of the shelf onto the bottom of the shelf, insert and tighten the 3 X M6 screws, that were removed in step |.

The surround is now complete.

sales@carron.uk.net www.carron.uk.net 01400 263 313




